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Info. Sheet 2; Advanced Topics in Geometry E
(MTH.B501)
Informations
e Eight homeworks were submitetd. The feedback will be found on T2SCHOLA.
o Although next Tuesday (May 3rd) is a holiday, the deadline of the home-
works is April 26, as usual.
Corrections
e Lecture note, page 1, line 9: unknwon = unknown
e Lecture note, page 1,line 9: ¢: J - U = x: [ - U
e Lecture note, page 1, line 9: solutoin = solution
o Lecture note, page 1, the first line of Fact 1.1: as in (2.1) = as in (1.1)
e Lecture note, page 1, line 14: solutoin = solution
o Lecture note, page 1, line 14: extension = extensions (plural).
o Lecture note, page 2, line 2: (2.1) = (1.1)
e Lecture note, page 2, line 10: © and A = Q and B
o Lecture note, page 2, line 18: n x n matrix = n x n-matrices (plural)

o Lecture note, page 4, line 1: If tr Q(¢) is identically zero in (1.7),
= If Q(t) in (1.7) satisfies tr Q(t) = 0,

e Lecture note, page 4, line 13: For any fixed number k&
= For any positive number k

e Lecture note, page 8, line 6: parametrized the arc-length = parametrized
by the arc-length =

Students’ comments
o XALLKBEVWLET. Lecturer’s comment 25 5 Z %
o HEMONEZIZEZENTLE SO THELET. Lecturer’s comment 8% ?

o AVIZOMUDANE? T, BLFAILWE L IHTRZERESHD £F. (Fr3Rvliex
‘*A) Lecturer’s comment [TKEXS5TL x5 IKIEHTWASLWTT (TV 2Hio
TWEWDTL SR
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Q and A

Q 1: Maximal solution #2232 X t = 0 ZECRBREBZ VSR TEIVDOTL &5
. e 2 de/dt = 1/(1 + 22?) (WHEE : £5 dz/dt = 1 + 22) OFITIE = = tant
(t€ (—m/2,7/2) L LTWELLER, t £ 7/2+nm (n € Z) THIFRFRTTELS Z
iELRW (TERW) OTL & 52,

A: FADRTREP SRV, 52 5NTHHHIIN T 2RO —BMIMRIEE ML {725 DT.

Q 2: THHEBI DM TEATE, WhWwd “RE” L2 Q) »° X(t) OHEIICE» TV E
A, EhSHNITIBATLRBROEMICREIDTL £ 5527

A: 3V, ZZTRBRTHSTE (Frenet-Serret 72 ¥) IH LB THIZEVWTWET.

Q 3: ZEREHAROEATEIICEIT % Frenet Frame O F (e, n, b) DM NIIIRITHERED D 2 D
TLxO%. DFEDZOWUDE E/2F dF /ds = FQ D Q B skew-symmetric 2% matrix
WCRBDFITED, ZIREERDTIREEDH oD LETH,?

A: (e,n,b) ZEDIEFICRLNT F 2FoTd FILF @ERXMATHNCARD £F. ZOWMPITER
SN EETT A,

Q 4: SROTEIMEOEAEHTTAH, AETHRDDE 3K Ver REWEEZLNTVWEDTL &
I, ? (BELL pRDEME FHLET)

A: BEIHOBEAER. 5 % Tz iUz EETIRR V.
Q 5: #FEL P4 D (1.9) TO /LA T—HE/ VA CO(I, Mp(R)) OMHIZEML FEAD?
A: I PERZEAXETHIUI—FE/ L4 FfHE.

Q 6: RIUTHNDFEEE skew symmetric D “skey” [ FERTIEIRID, WAL E S, ¥R R4T
FZ skew DMFEDLN D DK - 2.

A: BBIFY. HRO TEMN (bWwl &9) 1750 & X HVWETR
QT7: 1,2QBELTIDHEHETHS NFIZ MR Y — L OBHMEIZENTL & 5 2.

A: Buhrd LhERA. 2Q 1iF MEMREMOFAT—EMN) 2RLEVEEVE T2, BEET2
HLAEVEBF I ETA.



